

In compliance with DepEd Order (DO) No. 8, s. 2013 this advisory is issued not for endorsement per DO 28, s. 2001 but only for the information of DepEd officials, personnel/staff, as well as the concerned public.

INVITATION TO PARTICIPATE IN THE 6th REGIONAL ABM ANNUAL QUIZ SHOWDOWN (RABMAQS)

The Junior Philippine Institute of Accountants - Bicol University Chapter (BU-JPIA) is inviting Senior High School (SHS) students under the Academic -Accountancy, Business and Management (ABM) strand to participate in the 6th Regional ABM Annual Quiz Showdown on April 16, 2024, at Bicol University OSAS Event Hall, Daraga Campus, Sagpon, Daraga, Albay.

The activity profile and basic communication are attached for reference.

For information.

CLMD/mll 2/26/2024



Republika ng Pilipinas Kagawaran ng Edukaspon REHIYON V

TANGGAPAN NG SANGAY NG MGA PAARALAN NG LUNGSOD NAGA

March 27, 2024

To:

Assistant Schools Division Superintendent Chief Education Supervisors CID and SGOD Personnel Private and Public Secondary School Heads All Others Concerned

For information and guidance.

FERNANDO C. MACARAIG Asst. Schools Division Superintendent Officer-in-Charge

Office of the Schools Division Superintendent

DM 31, s. 2019 Rider Rev. 01











Page 1 of 1 Anonprofit, student-run, and program-based organization of BS Acquintancy of Bicol University

MAR 26-2024

RY.

For:

DR. GILBERT T. SADSAD

Regional Director, DepEd-ROV

Date:

MARCH 01, 2024

Subject:

REQUEST FOR ENDORSEMENT OF RABMAQS 2024 TO SENIOR HIGH SCHOOLS OFFERING

ABM STRAND IN THE BICOL REGION

Dear Dr. Sadsad:

Greetings!

The Junior Philippine Institute of Accountants – Bicol University Chapter (BU-JPIA) will hold its 6th Regional ABM Annual Quiz Showdown (RABMAQS), a 1-day annual gathering of ABM students all over the Bicol Region as they learn new concepts in their chosen track and test their knowledge in a series of academic cups. The 6th RABMAQS will be held on April 16, 2024 at the Bicol University OSAS Event Hall. We believe that this activity will promote academic excellence among our SHS students as they deepen their knowledge in the field of accountancy, business, and management.

Each participating school can send a maximum of five (3) students and one (1) faculty member. Each student is allowed to join only one (1) academic cup.

In connection to this, we humbly request from your good office to officially endorse the 6th RABMAQS for senior high schools offering ABM strand in the Bicol Region.

Attached herewith are the implementing rules and regulations, the proposals, and other specifications of the said program for your perusal.

Should you have further concerns, please contact our Vice President for Communications, Ms. Rochiel Grace S. Yanson at bu-jpia@bicol-u-edu.ph.

We appreciate your thoughtful considerations, and we look forward to hearing from you the soonest.

Thank you and God Bless!

Respectfully yours,

JOHN ERICK R. BERCILLA

President, BUJPIA

Noted by:

PROF REY JOSEPH M. REDOBLADO

Charperson, Department of Accountancy

Adviser, BU-JPIA

DR. DIMSON M. RIVERO

Dean, BU-CBEM

Approved by

DR. GILBER L SADSAD
Regional Director, DepEd-ROV

PROF. GENIVA M. NARIO-LLAGAS
College Student Affairs Coordinator, BU-CBEM

24030467



PROJECT/ACTIVITY/EVENT PROPOSAL

A.Y. 2023-2024

I. Title:

6th Regional Accountancy, Business, and Management Annual Quiz Showdown

(RABMAQS)

II. Date:

February 29, 2024

III. Venue:

Bulwagang Bueño (OSAS Event Hall), Bicol University Main Campus

IV.

Proponents:

Junior Philippine Institute of Accountants - Bicol University Chapter (BU-JPIA)

V. Faculty, Student, Officer in Charge:

Name	Position	
BRIX RENZO R. REMPILLO	Vice President for Academic Affairs, Event Head	
JOHN ERICK R. BERCILLA	President	
PROF. REY JOSEPH M. REDOBLADO, CPA	Adviser	

WORKING COMMITTEES

A. LOGISTICS COMMITTEE FOR ACADEMICS:

Head: Brix Renzo R. Rempillo, Vice President for Academic Affairs, BU-JPIA

B. LOGISTICS COMMITTEE FOR NON-ACADEMICS:

Head: Diego Lorenzo J. Datar, Vice President for Non-Academic Affairs, BU-JPIA

C. PROMOTIONS AND NETWORKING COMMITTEE:

Head: Abby G. Gerolia, Vice President for Membership, BU-JPIA

D. WAYS AND MEANS COMMITTEE:

Head: Xander Louis Salceda, Vice President for VP for Assets and Resource Management, BU-JPIA

F. PUBLIC RELATIONS COMMITTEE:

Head: Rochiel Grace Yanson, Vice President for Communications, BU-JPIA

G. AUDIT COMMITTEE:

Head: Joyce Kathleen B. Vargas, Audit Head, BU-JPIA

H. EDITORIAL BOARD:

Head: Darlyn Louisse T. Legaspi, Editor-in-Chief, The Auditor, BU-JPIA

VI. Target Participants:

This activity is initiated for the benefit of Accountancy, Business, and Management (ABM) students from senior high schools within the region.

VII. Rationale:

To ensure and promote academic excellence to current senior high school students, specifically ABM students, the Junior Philippine Institute of Accountants- Bicol University Chapter (BU-JPIA) will be conducting the 6th

Opening Prayer Philippine National Anthem Bicol University Hymn Audio Visual Presentation	
Welcoming Remarks Prof. Rey Joseph M. Redoblado, CPA Department of Accountancy Chairperson, BU-JPIA Adviser	
Final Reading of Implementing Rules and Regulations Brix Renzo R. Rempillo Vice President for Academic Affairs, BU-JPIA	
Business Finance Cup	
Basic Accounting Cup	
Lunch Break	
Business Math Cup	2 100 00000000
Seminar	
Awarding Ceremony	
Closing Remarks Brix Renzo R. Rempillo Vice President for Academic Affairs, BU-JPIA	
Photo Opportunity	
	Philippine National Anthem Bicol University Hymn Audio Visual Presentation Welcoming Remarks Prof. Rey Joseph M. Redoblado, CPA Department of Accountancy Chairperson, BU-JPIA Adviser Final Reading of Implementing Rules and Regulations Brix Renzo R. Rempillo Vice President for Academic Affairs, BU-JPIA Business Finance Cup Basic Accounting Cup Lunch Break Business Math Cup Seminar Awarding Ceremony Closing Remarks Brix Renzo R. Rempillo Vice President for Academic Affairs, BU-JPIA

XII. Funding Requirements

Nature	Specification	Price x Quantity	Financial Requirement
Prize: First Placer	Trophy	2,000.00 x 3	P 6,000.00
Prize; 2 nd Placer	Trophy	2,000.00 x 3	6,000.00
Prize: 3 rd Placer	Trophy	2,000.00 x 3	6,000.00
Prize: Placers	Acrylic Medal or Trophy	350.00 x 9	3,150.00
Prize: Top Performing School	Crystal Trophy and Certificate Frame	2,500.00 x 3	7,500.00
RABMAQS Tarpaulin	Décor	1,000.00 x 1	1,000.00
Photopaper	For ID (Facilitators)	90.00 x 4	360.00
Envelopes (per pack)	For Prizes	50.00 x 1	50.00
Vellum Paper	Certificate of Merit, Participation, & Appreciation, Power Cards	300.00 x 1	300.00
Bond Paper	Questionnaire, Printed List of Participants	250.00 x 1	250.00



Regional ABM Annual Quiz Showdown (RABMAQS). An annual academic event held by BU-JPIA. In this event, ABM students from senior high schools throughout the region are to gather for a one-day face-to-face activity in which they are to learn new concepts by testing their knowledge on Business Finance, Basic Accounting, and Business Math in a series of academic cups. This event also seeks to build camaraderie amongst ABM senior high school students and to prepare them as they enter college.

VIII. Objectives:

This activity is conducted:

- 1. To review ABM students on their subjects, Business Finance, Basic Accounting, and Business Math.
- 2. To enhance ABM students' mastery on Business Finance, Basic Accounting, and Business Math.
- To promote friendly competition amongst participating ABM students from various senior high schools within the region
- 4. To test ABM students' knowledge in a friendly and fun learning environment.
- 5. To build a good relationship amongst participating ABM students within the region.

IX. Expected Outcomes:

At the end of the event, the following outcomes are expected:

- 1. Provided academic training and review on the different major subjects.
- 2. Promoted academic excellence through academic competitions in a fun and creative way.
- 3. Established rapport among BU-JPIA members.
- 4. Have encouraged student participation of BU-JPIA members in academic events.

X. Sustainable Development Goals

This activity is aligned with the following sustainable development goals:

- 1. Quality Education (Goal #4)
 - This event initiated by an academic organization promotes quality education and provides fun and creative way to learn and share knowledge.
- 2. Peace, Justice, and Strong Institutions (Goal #16)
 - This event brings people together in a friendly competition and establishes rapport among BU-JPIA members.

XI. Schedule and Duration:

RABMAQS

Date	Activity	
January 22, 2024	Sending of Invitations to senior high school students within Bicol Region	
January 22, 2024	Registration [Opening of Google Forms]	
February 23, 2024	Last Day of Registration [Closing of Google Forms]	
February 29, 2024	RABMAQS 2023	

Time	Activity	
7:30 AM – 8:00 AM	Arrival of Participants & Attendance	

Transportation Expense	Gas Allowance, Transportation of supplies and for processing of papers	1,000.00 x 1	1,000.00
Transportation Expense	For sending of physical invitations per school	1,000.00 x 1	1,000.00
Lunch and Snack	Professors, Event Heads, & Facilitators	120.00 x 40	4,800.00
Snack	Adjudicators	150.00 x 3	450.00
Water	Professors, Event Heads, and Facilitators	30,00 x 2	60.00
Sound System		5,000.00 x 1	5,000.00
Subtotal		P 42,920.00	
Contingency		4,300.00	
Total		P 47,220.00	

Prepared by:

JOHN ERICK R. BERCILLA President, BU-JPIA

Certified Funds Available:

JESSA MAE MIRARAN

Vice President for Finance, BU-JPIA

Noted by:

President, BUCBEM-CSC

Recommended by:

PROF. REY JOSEPH M. REDOBLADO Chairperson, Department of Accountancy

Adviser, BU-JPIA

Dean, BU-CBEM

PROF. GENIVA M. NARIO-LLAGAS

College Student Affairs Coordinator, BU-CBEM